Problem Set 4: Forensics
What to Do

1. Implement Whodunit

whodunit/ x

~fworkspace/ % cd psetd
rfworkspace/psetd/ $ cd whodunit clue.bmp verdict.bmp
~fworkspace/psetd/whodunit/ % I
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~fworkspace/ $ cd psetd
~fuworkspace/psetd/ $ cd whodunit clue.bmp verdict.bmp
~fworkspace/psetd/whodunit/ $ |:|


http://docs.cs50.net/2016/fall/psets/4/pset4.html#what-to-do
http://docs.cs50.net/problems/whodunit/whodunit.html
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2. Implement either of:
o Resize, less comfortable

o Resize, more comfortable

resize/ ®

~/workspace/ % cd psetd

~fworkspace/psetd/ % cd resize

~fworkspace/psetd/resizef % ./resize 2 small.bmp larger.bmp
~/workspace/psetd4/resize/ § |

B8 small.bmp x
Resize Rotate 50° Left  Rotate 90° Right FlipH  Flipy go0% -
resizes x

~fworkspace/ % cd psetd

~fuworkspace/psetd/ $ cd resize

~fworkspace/psetd/resize/ % ./resize 2 small.bmp larger.bmp
~fworkspace/psetd/resize/ $


http://docs.cs50.net/problems/resize/less/resize.html
http://docs.cs50.net/problems/resize/more/resize.html
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resizel %

~/workspace/ % cd psetd

~fworkspace/psetd4/ $ cd resize

~fworkspace/psetd/resize/ % ./resize 2 small.bmp larger.bmp
~fworkspace/psetd4/resize/ %

(== gtnall brp * larger. bmp * studenthmp x N (@
Resize Rotate 90 Left  Rotate S0° Right FlipH  Flipy g00% -
resizef x @

~fworkspace/ $ cd psetd

~/workspace/psetd/ $ cd resize

~/workspace/psetd/resize/ % ./resize 2 small.bmp larger.bmp
~/workspace/psetd/resize/ $ ./resize 4 small.bmp student.bmp
~/workspace/psetd/resize/ $



